Soderkdpings BS
Sommarbridge 3 2022-06-16

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.

Plac Par Poéng % Namn MID Klubb
1 1 208 61.90 Hakan Heggblad - Uno Andersson 89511 44146 IFK Norrkdping
2 8 195 58.04 Krister Lundblad - Sven Arne Hjalmarsson 29029 17736 Soderkopings BS - Valdemarsviks BK
3 3 189 56.25 Torgny Andersson - Mattias Furenbéack 42578 34227 Valdemarsviks BK - Norrkdpingsbridgen
3 12 189 56.25 Goran Jonsson - Eva Jonsson 33101 33160 Ostra Ryds BK
5 9 186 55.36 Gerd Hemer - Gunhild Wéarn 17104 40504 Kolmardens BK
6 4 184 54.76 Lars Lindvall - Solvig Carlsson 5658 29119 Sdderkopings BS
7 7 183 54.46 Carina Larsson - Berit EkI6f 33166 30300 Ostra Ryds BK - Norrképingsbridgen
8 14 179 53.27 Peter Kennerfalk - Lars Nilsson 7397 50311 Valdemarsviks BK
9 6 163 48.51 Anita Bergenfors - Torbjorn Axman 52334 42580 Norrkopingsbridgen - Ostra Ryds BK
10 11 161 47.92  Sten Hertzman - Birgitta Hertzman 25985 43449 Soderkdpings BS
11 5 156 46.43  Nils Erik Furenbéck - Eva Furenback 34226 52380 Ostra Ryds BK
12 15 151 44.94 Conny Kling - Stefan Wisth 6771 91318 Valdemarsviks BK - Norrkopingsbridgen
13 10 150 44.64  Stig Fjarstedt - Olle Andersson 88612 66250 Norrkdpingsbridgen
14 2 139 41.37 Karl-Gosta Larsson - Anita Larsson 5921 1545 Kolmardens BK
15 16 131 38.99 Helena Gustavsdotter - Marianne Salomaa 45900 66256 Sdderkdpings BS - Norrkdpingsbridgen
16 13 124 36.90 Helén Harjaméaki - Margareta Arfwedson 48589 28432 Norrkdpingsbridgen - Soderkdpings BS
1 4 Kn653 2 48 3 41054
Nord v3 Ost vE9 Syd vK
Ingen +9874 NS ¢+ ED10532 ov 4853
D742 #EK32 #K109653
4E107 4K98 a4 4 Kn105 « EKn3 4 D7
vKn92 +¢D1085 vKDKn85 v 10762 vKnl1076 v E98532
¢ E1062 ¢ K53 + K8 ¢ 764 ¢ K1076 ¢ EDKn2
#EK5 #Kn86 #D9764  #Knl05 84 a7
4 D42 « EKD97632 4 K9862
v EK764 v43 vD4
¢ DKn ¢+ Kn9 +94
#1093 »8 #EDKn2
Par  Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
10 2 INO+1 vA -120 140 00| 3 5 6NN= 45 1440 140 00| 7 15 24 S+2 48 170 140 0.0
3 5 INO+2 v6 -150 100 40| 9 4 3NN+4 &J 720 120 20|13 2 24 S-1 »8 -50 120 2.0
14 7 INO+2 +Q -150 10.0 4.0| 8 11 44 S+3 K 710 6.0 80| 1 16 34 S-2 v] -100 9.0 5.0
16 12 INO+2 v7 -150 100 4.0(10 2 44 S+3 vK 710 60 80| 4 6 24S-2 v] -100 9.0 5.0
9 4 INV+3 +9 -180 6.0 80|14 7 44 S+3 vK 710 6.0 80|14 8 3vO+2 ¢9 -200 6.0 8.0
13 1 3NV= v3 -400 3.0 11.0|15 6 44 S+3 vK 710 6.0 80|10 5 4vO= a2 -620 4.0 10.0
15 6 3NO= v6 -400 3.0 11.0|16 12 44 S+3 vK 710 6.0 80| 9 12 4vO+1 9 -650 1.0 13.0
8 11 3NO+1  &T -430 0.0 14013 1 44 S+1 vK 650 0.0 140|11 3 5v 0= *A -650 1.0 130
4 ~E74 5 4 Kn10643 6 4E73
Vast v DKn1092 Nord v Kn10952 Ost v Kn964
Alla ¢ K102 NS ¢- ov + D10
#85 *K86 #Kn985
4 K105 #DKn932 o E 4 K972 4 KDKn542 « 106
vEK8 v764 v K7 v E863 v D52 v 873
¢Kn74  ¢- ¢ Kn10942 ¢ 853 ¢ Kn2 ¢ K97643
#EKD4 #Kn10932 #D5432 #EKn *72 *64
+ 86 « D85 498
v53 vD4 v EK10
¢+ ED98653 ¢+ EKD76 ¢ E85
&76 £1097 &EKD103
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 16 2NV +3 vQ -210 140 0.0| 8 15 3¢ V-1 vl] 50 140 00|10 1 3NS= oK 400 120 2.0
9 12 44 O= ¢A -620 120 20| 9 14 INV= vJ] 90 120 20|11 6 3NN= aT 400 120 2.0
7 15 44 V+1 vQ -650 70 70| 5 7 340-= ¢ A -110 80 6.0[/13 3 3NS= oK 400 120 2.0
11 3 4a V+1 vQ -650 70 7.0[10 1 240+1 A -110 80 6.0 5 7 5#S-1 oK -50 50 9.0
13 2 4a V+1 vQ -650 70 7.0[(12 4 240+1 +A -110 80 6.0 8 15 3NN-1 oT -50 50 9.0
14 8 44 V+1 vQ -650 70 70|16 2 240+2 +¢K -130 40 100| 9 14 54S-1 oK -50 50 9.0
4 6 3NV+2 vQ -660 20 12.0{13 3 24DN-1 vA -200 20 12.0({12 4 5#S-1 oK -50 50 9.0
10 5 44 V+2 vQ -680 00 140|11 6 34 N-3 *A -300 0.0 14016 2 3NS-2 a K -100 0.0 14.0
7 4 D1095 8 4« EKKn 9 4 Kn109876
Syd vE3 Vast v EKDKn3 Nord vEK4
Alla + EKn109 Ingen ¢ 743 ov ¢+ E3
#ED5 #EKn #108
4642 & EKKn83 4 D105 49864 4 E5 4 D432
v9842 v- v6 v4 v98763 v DKn52
¢642 ¢ KD53 ¢ ED10862 ¢ KKn5 41054 ¢ Kn8
2764 #KKn83 *742 #D10986 »E96 #K53
a7 4732 aK
v KDKn10765 v 1098752 v 10
+ 87 +9 ¢ KD9762
#1092 #K53 #DKn742
Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 5 44DO0O-3 vK 800 140 00| 1 5 4y N+2 48 480 9.0 50|15 10 3NN+1 5 430 140 0.0
10 14 4¢vDS= 3 790 120 20| 3 16 5v S+1 a5 480 9.0 50|12 3 44 N= vQ 420 120 2.0
11 2 3NN+2 &K 660 9.0 50|10 14 4vy N+2 &6 480 90 50(13 5 3NN= v2 400 10.0 4.0
12 7 3NN+2 &A 660 90 50|11 2 4vy N+2 &8 480 90 50| 1 8 24 N+1 5 140 6.0 8.0
3 16 4y N+1  &A 650 6.0 80|12 7 4¢vy N+2 ¢5 480 9.0 50| 7 9 24 N+1 42 140 6.0 8.0
15 9 4v S= v2 620 40 10015 9 4vy N+2 K 480 9.0 50|14 11 24 N+1 T 140 6.0 8.0
6 8 44 O-3 vK 300 20 12.0|13 4 4vy N+l +¢K 450 20 120| 2 6 3NN-1 vQ -50 1.0 130
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13 4 4¢vDO= 46 -790 0.0 140| 6 8 3vy N+3 +J 230 0.0 140|16 4 5¢ S-1 4 A -50 1.0 13.0
10 # K952 11 «Kn63 12 « D976
Ost v7 Syd vE54 Vast v7
Alla ¢ E1082 Ingen ¢ E1042 NS ¢ KD1075
#EKDKn *K72 #K98
4DKn743 «E 4 K975 4D842 «KKn104 4853
v5 v DKn10942 v 87632 vKD vEDKn5 vK9843
¢ KD7 ¢ Kn943 ¢ Kn9 ¢ K87 ¢Kn983 ¢4
#9872 £104 #Kn3  #10954 *Kn *E643
« 1086 «E10 aE2
v EK863 v Kn109 v 1062
465 + D653 ¢ E62
#653 #ED86 #D10752
Par  Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
1 8 34DV-6 A 1700 140 00| 1 4 3NN+1 T 430 130 10| 2 9 4v0-1 & A 50 13.0 1.0
2 6 2vDV-3 #A 800 120 20| 3 7 3NS+1 v8 430 130 10| 8 10 4v0O-1 a A 50 130 1.0
14 11 2¢vDO-2 +6 500 100 4.0| 5 16 3NN= a2 400 100 40| 1 4 3vO= e A -140 50 9.0
12 3 2vyDV-1 A 200 6.0 8.0|13 6 Pass 80 6.0 3 7 2v0+1 &A -140 50 9.0
15 10 2¢vDO-1 5 200 60 80| 8 10 3NN-1 a4 -50 50 9.0| 5 16 2v O+1 &A -140 50 9.0
16 4 2¢vDO-1 +6 200 6.0 8.0|11 15 3NN-1 a2 -50 50 9.0(11 15 2v O+1 ¢2 -140 50 9.0
13 5 24 N+2 vQ 170 20 120| 2 9 3NS-2 v8 -100 10 130(13 6 3vO= LY -140 50 9.0
7 9 3NN-2 vQ 200 0.0 140|14 12 3NS-2 v8 -100 10 13014 12 3v V= ¢+ K -140 50 9.0
13 « EK63 14 «D1042 15 492
Nord v E107 Ost v4 Syd v D53
Alla + D109 Ingen ¢ Kn109653 NS ¢ D10652
#EK3 «108 «873
454 4 Knl10 4976 4 EKKn85 4Knl05 «EK43
v Kn52 v 9863 vEK1082 v963 v10742 vE8
¢ EKn ¢ K7632 +8 ¢ K74 ¢ 974 ¢ EKn8
#987652 #Knl0 #DKn43  #E2 «D54 #E1062
« D9872 3 « D876
vKD4 v DKn75 v KKn96
¢854 ¢ ED2 ¢+ K3
«D4 #K9765 #KKn9
Par  Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
3 10 64 N= v9 1430 140 0.0(16 6 4v V-2 &T 100 140 00| 7 16 2NO-2 v9 100 130 1.0
9 11 3NN+2 3 660 120 20| 2 5 44 0-1 *6 50 90 50(13 8 3NO-2 v6 100 13.0 1.0
1 14 44 N+1 & 650 80 6.0 4 8 440-1 vQ 50 90 50 5 9 3NO-1 46 50 100 4.0
4 8 44 N+1 &) 650 80 6.0 9 11 2NO-1 &5 50 90 50|10 12 14 O= +3 -80 80 6.0
12 15 44 N+1  +v3 650 80 6.0[12 15 44 O-1 ¢ A 50 90 50| 3 6 INO= 46 -90 6.0 8.0
2 5 44 N= *3 620 20 12.0| 3 10 4vO= 43 -420 30 11.0] 4 11 24 0O= ¢+ K -110 4.0 10.0
13 7 44 N= +3 620 20 12.0|13 7 44 0= ¢ A -420 30 11.0| 2 14 2NO= 46 -120 1.0 13.0
16 6 44 N= +6 620 20 120| 1 14 44 O+2 &3 -480 0.0 14.0|15 1 2NO= 46 -120 1.0 130
16 & K1043 17 « KDKn 18 « K7
Vast v53 Nord v K62 Ost v KDKn974
ov 49832 Ingen *+ K NS * K2
#532 #KDKn754 #D92
D92 46 293 4875 «Knl1083 #ED52
v 92 vKD108 v543 vED108 vE108 v532
4765 ¢ KDKn4 ¢ DKn87654 ¢ 932 ¢ED ¢ Kn9654
#108764 #EKD9 +10 #963 #K654 +10
« EKn875 « E10642 964
v EKn764 v Kn97 v6
¢E10 ¢E10 +10873
*Kn »E82 #EKn873
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
7 16 34 S+1  v9 170 140 00|14 3 6#N+1 #3 940 140 00| 4 7 1vyN+2 45 140 140 0.0
3 6 24 S+1 &8 140 120 20| 4 7 6#N= YA 920 110 3.0(15 2 1v N+1 T 110 120 2.0
4 11 540-1 *A 100 90 50| 5 12 6#N= vA 920 11.0 3.0| 6 10 44 O-1 *A 50 8.0 6.0
15 1 540-1 vA 100 90 50| 6 10 3NS+4 +7 520 80 6.0[11 1 3+40-1 v6 50 80 6.0
10 12 34 S-1 v9 -50 6.0 80(13 9 44 S+3 T 510 6.0 80(13 9 3NV-1 vJ 50 80 6.0
2 14 3 0+1 #J -130 20 12015 2 5#N+2 &9 440 40 10.0| 5 12 34 V= vK -140 3.0 11.0
5 9 440= ¢A -130 20 12.0(11 1 54N+l ©vA 420 20 12014 3 laV+2 vK -140 3.0 11.0
13 8 420-= *A -130 20 120|16 8 3NS-1 *4 50 0.0 140|16 8 24 O+2 v6 -170 0.0 14.0
19 » K86 20 « EKN9653 21 + 106
Syd vED2 Vast v 102 Nord v 10543
oV ¢ EK2 Alla ¢ E875 NS ¢ K73
#D543 8 #KDKn8
4D107532 «E oK «D1074 «EDKn42 «K3
v 876 v 10543 v D86 v EKn7 v KD v Kn9872
¢ 543 ¢ Kn7 ¢ Kn9432 +K +94 + ED86
*9 #EKKnN1076 #E1064 #K9753 #10763 %94
» Kn94 « 82 #9875
v KKn9 v K9543 vEG6
+ D10986 + D106 ¢ Knl1052
*82 #DKn2 #E52
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
14 4 3NS+1 45 430 140 0.0(12 2 3¢ V-3 8 300 140 00| 8 12 34 V-2 *7 100 140 0.0
7 11 3NN= &K 400 120 20| 3 15 24 N= &5 110 100 40| 5 14 2¢v0-1 49 50 120 2.0
3 15 INN+2 #A 150 90 50| 6 1 24 N= +K 110 100 40| 1 3 2v0O= 49 -110 9.0 5.0
6 1 2NN+1  &#A 150 90 5.0(13 10 24 N= 3 110 100 4.0|16 10 2vO= 9 -110 9.0 5.0
5 8 3¢ S+1 &9 130 60 80|14 4 3#40= 48 -110 6.0 80| 4 15 2vO0+1 ¢J -140 4.0 10.0
9 16 2NN-= *A 120 40 100| 5 8 INO+2 v5 -150 4.0 100| 6 9 2v O+1 #A -140 4.0 10.0
12 2 240-1 *T 100 20 120| 9 16 24 N-2 ¢+ K -200 20 120 7 2 29 O0+1 49 -140 4.0 10.0
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13 10 3NN-1 &A -50 0.0 14.0| 7 11 24 N-3 &5 -300 0.0 14.0|13 11 2NO+2 *2 -180 0.0 14.0
22 # Kn107632 23 «E1082 24 & EKn32
Ost v K92 Syd v EK92 Vast vKn93
oV + KD97 Alla +D8 Ingen + D10854
&»- #K105 »2
« E854 496543 & KD7 & 987 & KD54
v D865 v Knl1043 vDKn4 ¢103 vD74 v 862
+10865 ¢ EKn3 ¢ Kn72 ¢ EK104 ¢ KKn732 +9
#EKD74 #Kn5 &74 #DKn86 #93 #KD1065
«KD9 & Kn «106
vE7 v 8765 v EK105
*42 49653 ¢+ E6
#1098632 &#E932 &#EKNn874
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 2 4v 0-2 s K 200 140 00| 7 10 INDN+1 +A 380 140 00| 8 3 3NS= a7 400 140 0.0
1 3 34N= & 140 90 50(15 5 24V-2 vA 200 120 20| 7 10 34 0-3 *A 150 120 20
4 15 34 N= & 140 9.0 50(11 16 INN+1 &6 120 100 40| 6 14 24 0-2 vA 100 10.0 4.0
13 11 34 N= &J 140 90 50| 2 4 INN-= *+K 90 6.0 80 2 4 3NN-1 L JO) -50 70 7.0
16 10 34 N= *A 140 90 50| 6 14 INN= vT 90 6.0 8.0(13 12 3NS-1 *2 -50 70 7.0
8 12 44DN-1 &J -100 40 100| 9 1 INN= *A 90 60 80| 9 1 2NS-2 &9 -100 20 120
6 9 3vV= a] -140 20 120 8 3 INN-1 L JO) -100 1.0 13.0(11 16 3NN-2 &5 -100 2.0 12.0
5 14 2v O+2 &K -170 0.0 14.0|13 12 INN-1 *A -100 1.0 13.0|15 5 3NN-2 &K -100 20 120
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